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GreenSwan is a philantropic

start-up whose aim through
partnerships with small and

large sustainable and non

sus.talnable com.panles, local s SAVEA,

artisans to repair, reuse, THE WLRLD
: . € TOGETHER

and recycle items in line (4

with the UN’s 2020 goals.
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Green Swan wants to
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have a 360 impact o

fashion industry who is one * The environment
of the major « Employment
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We are looking for donations t
of branded handbags,

accessories, clothes, shoes,
and household items. Please —

donate ONLY merchandise in " i
good and sellable shape. e, U -

WHO WILL YOU BE
HELPING?¢

BE KIND T0 THE EARTH

& BUY MORE VINTAGE
HRECYCLE
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IMPACT OF FASHION ON THE
WORLD AROUND UsS

/

The average Canadian throws
out 14 kg of textile waste a

@y, 80 bittion
It is estimated that 80 bil-

lion items of clothing are
delivered out of factories
annually worldwide. That's
enough to fill over a million
football stadiums.

DO T
OO0
OO0

year. The average American
throws out 30 kg of textile
waste a year. All that adds up
to more than 25 million tons
of textile waste per year for

It takes 2720 litres of water to
make a T-shirt. That's how much we
normally drink over a 3 year period
(it's no wonder the fashion industry
is the second largest water polluter
in the world!).
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North America alone.
The average woman hoards

$350 CAD worth of unworn $3 50
clothing in her closet, the

equivalent of 18 outfits. > &
That's over 50 billion dollars '

(CAD) of unworn clothing if
you add everyone up.

A
1.5 tonnes

Clothing consumption produces 1.5 tonnes of CO2
per household per year, the equivalent of driving
6000 cars.
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It takes 200 gallons of

water to make one pair of
jeans, which is the equiva-
lent of 285 showers.
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of discarded clothing can be
recycled or upcycled to
make something new.

Recycling and upcycling
also saves energy needed to
make new materials!

ADAPTED FROM FASHIONREVOLUTION.ORG
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WHAT IS THE DIFFERENCE
BETWEEN A LINEAR & CIRCULA
ECONOMY?

Circular economy

Linear economy

Take
Make

Use Recycle Make

Dispose
Use

Reuse/{_’
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Remake




